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Hydrogen peroxide, H;0z(» decomposes to produce water, H;0y,, and oxygen, Oz according to the
following equation.

1
0, H,0) + 3 Os)

Scientists often use a potassium iodide catalyst to control the rate of the reaction.

Question A
On the graph below, which curve represents the reaction without a catalyst?
Justify your answer.
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Consider the following reactions at room temperature:
ik Fe¥(oy + SCN'(sq) > FeSCN g

2. 4Fey +30y > 2Fe0y

3. 8Fey + Suy - BFeS

Which combination below arranges the reactions from slowest to fastest?

A 15253 C) 2531
B) 15352 D) 3521
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[[4] A small explosion and fire recently occurred when the flour inside a silo combusted.

Use collision theory to explain what might have caused the fire.
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Consider the following graph, illustrating nitrogen consumption.

Consumption of Nitrogen
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In the Haber reaction, nitrogen gas (N;) is combined with hydrogen gas (H;) under extremely high
pressure and medium temperature, and using a catalyst (an iron catalyst prepared by reducing
magnetite, Fe:O,), to produce ammonia (NHs).

Nzg + 3Hag > 2NHyg
Determine the instantaneous rate for nitrogen consumption at 20 minutes.

Show all work on the graph.




